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Question Id : 68634011852 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Select the most appropriate option from the given alternatives:
It's really something from the past—

when you and I split up

without any regrets——

just one thing that I don't quite understand.

When we were saying our farewells

and our house was up for sale

the empty pots and pans strewn across the courtyard—
perhaps they were gazing into our eyes

and others that were upside down—

perhaps they were hiding their faces from us.

A faded vine over the door.

perhaps it was confiding something to us

—or grumbling to the faucet.

Things such as these

never cross my mind:
Sub questions

Question Number : 1 Question Id : 68634011853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the line 'Perhaps they were gazing mto our eyes.' Who does 'they' refer to?

1. Vine

| )

. Bare room

L]

. Empty pots & pans
4. Street dog

Options :



68634046801. 1
68634046802. 2
68634046803. 3
68634046804. 4

Question Number : 2 Question Id : 68634011854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Select the most appropriate option from the given alternatives:
The line 'when the house changed hands', means
1. to bring in luggage
2. to renovate the house
3. to shift to a new location

4. to hand over the charge

Options :

68634046805. 1
68634046806. 2
68634046807. 3
68634046808. 4

Question Number : 3 Question Id : 68634011855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Tdentify the poetic device in the line
'and others that were upside down-perhaps they were hiding their faces from us.'

1. Alliteration

2. Personification
3. Simile

4. Hyperbole

Options :

68634046809. 1
68634046810. 2
68634046811. 3
68634046812. 4

Question Number : 4 Question Id : 68634011856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find a word which means 'CARCASS' from the passage.
1. A living body
2. A dead body
3. A malnourished body

4. A skeleton

Options :

68634046813. 1
68634046814. 2
68634046815. 3
68634046816. 4

Question Number : 5 Question Id : 68634011857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find a word from the passage which 1s a synonym of the word 'ADIEU'

1. Regret

J

. Grumble
3. Farewell

4. Confide

Options :

68634046817. 1
68634046818. 2
68634046819. 3
68634046820. 4

Question Id : 68634011852 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Select the most appropriate option from the given alternatives:
It's really something from the past—

when you and I split up

without any regrets——

just one thing that I don't quite understand.

When we were saying our farewells

and our house was up for sale

the empty pots and pans strewn across the courtyard—
perhaps they were gazing into our eyes

and others that were upside down—

perhaps they were hiding their faces from us.

A faded vine over the door.

perhaps it was confiding something to us

—or grumbling to the faucet.

Things such as these

never cross my mind:
Sub questions

Question Number : 1 Question Id : 68634011853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the line 'Perhaps they were gazing mto our eyes.' Who does 'they' refer to?

1. Vine

| )

. Bare room

L]

. Empty pots & pans
4. Street dog

Options :



68634046801. 1
68634046802. 2
68634046803. 3
68634046804. 4

Question Number : 2 Question Id : 68634011854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Select the most appropriate option from the given alternatives:
The line 'when the house changed hands', means
1. to bring in luggage
2. to renovate the house
3. to shift to a new location

4. to hand over the charge

Options :

68634046805. 1
68634046806. 2
68634046807. 3
68634046808. 4

Question Number : 3 Question Id : 68634011855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Tdentify the poetic device in the line
'and others that were upside down-perhaps they were hiding their faces from us.'

1. Alliteration

2. Personification
3. Simile

4. Hyperbole

Options :

68634046809. 1
68634046810. 2
68634046811. 3
68634046812. 4

Question Number : 4 Question Id : 68634011856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find a word which means 'CARCASS' from the passage.
1. A living body
2. A dead body
3. A malnourished body

4. A skeleton

Options :

68634046813. 1
68634046814. 2
68634046815. 3
68634046816. 4

Question Number : 5 Question Id : 68634011857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find a word from the passage which 1s a synonym of the word 'ADIEU'

1. Regret

J

. Grumble
3. Farewell

4. Confide

Options :

68634046817. 1
68634046818. 2
68634046819. 3
68634046820. 4

Sub-Section Number : 2
Sub-Section Id : 686340393
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634011858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |l didn't know that she had been married since she seldom talked about herself]| [ |Adverb clause of conversion
B. [She said that I will have to go to Mumbai Il |Adjective Clause
C. Maria bought some flowers which she wanted to give her mother 1. Noun Clause
D. |To every child, approval means love, whereas disapproval means hate IV. |Adverb Clause of Reason

Choose the correct answer from the options given below:

1. A-IV, B-1II. C-I. D-II

-2

CA-IV, B-111, C-II, D-I
3. A-I, B-II. C-IV. D-III
4. A-IT1. B-IV. C-II, D-I

Options :

68634046821. 1
68634046822. 2
68634046823. 3
68634046824. 4

Question Number : 6 Question Id : 68634011858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST I
A |l didn't know that she had been married since she seldom talked about herself| [ |Adverb clause of conversion
B. [She said that I will have to go to Mumbai Il |Adjective Clause
C. Maria bought some flowers which she wanted to give her mother ITT. INoun Clause
D. |To every child, approval means love, whereas disapproval means hate IV. |JAdwverb Clause of Reason

Choose the correct answer from the options given below:

1. A-IV, B-III. C-1. D-II

2

CA-IV. B-IIIL C-I1. D-1
3. A-L. B-II. C-IV, D-III
4. A-II1, B-IV. C-II, D-1

Options :

68634046821. 1
68634046822. 2
68634046823. 3
68634046824. 4

Question Number : 7 Question Id : 68634011859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Choose the correctly spelt word from the given options:-

1. Stampade

| )

. Stampede
3. Stmapade
4. Stampode
Options :
68634046825. 1
68634046826. 2

68634046827. 3
68634046828. 4

Question Number : 7 Question Id : 68634011859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-

1. Stampade

| )

. Stampede
3. Stmapade
4. Stampode
Options :
68634046825. 1
68634046826. 2

68634046827. 3
68634046828. 4

Question Number : 8 Question Id : 68634011860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The most suitable antonym of the given word 'Retaliation’.
1. Remove
2. Admonition

3. Wholesale

4. Reconciliation

Options :
68634046829. 1



68634046830. 2
68634046831. 3
68634046832. 4

Question Number : 8 Question Id : 68634011860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The most suitable antonym of the given word 'Retaliation’.
1. Remove
2. Admonition

3. Wholesale

4. Reconciliation

Options :

68634046829. 1
68634046830. 2
68634046831. 3
68634046832. 4

Question Number : 9 Question Id : 68634011861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Trying to do the impossible. often so as to help others. while getting oneself into danger

1. Quartet

| )

. Quethe

L¥ 5]

. Quixotic
4, Quiver

Options :

68634046833. 1
68634046834. 2
68634046835. 3
68634046836. 4

Question Number : 9 Question Id : 68634011861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Trying to do the impossible. often so as to help others. wlile getting oneself mto danger

1. Quartet

| )

. Quethe
3. Quixotic
4. Quiver

Options :

68634046833. 1
68634046834. 2
68634046835. 3
68634046836. 4

Question Number : 10 Question Id : 68634011862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate preposition from the options given below:

Sitting a heap rubble, holding placards. Rena Sharma and Kanika Das have started their
hunger strike protest or the Archeological Survey of India's demolition drive in Tughlaquabad.

1. on. with. for
2. In. on. of
3. on. for. with
4. on. of. in

Options :

68634046837. 1
68634046838. 2
68634046839. 3
68634046840. 4

Question Number : 10 Question Id : 68634011862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate preposition from the options given below:

Sitting a heap rubble, holding placards. Rena Sharma and Kanika Das have started their
hunger strike protest or the Archeological Survey of India's demolition drive in Tughlaquabad.

1. on. with. for
2. In. on. of
3. on. for. with
4. on. of. n

Options :

68634046837. 1
68634046838. 2
68634046839. 3
68634046840. 4

Question Number : 11 Question Id : 68634011863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 25 students, 72% students are interested in sports. How many students do not like participating in

sports?

1.

L

| ]
O

4.8

Options :

68634046841. 1
68634046842. 2
68634046843. 3
68634046844. 4

Question Number : 11 Question Id : 68634011863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a class of 25 students, 72% students are interested in sports. How many students do not like participating m

sports?

1.

L

| ]
O

4.8

Options :

68634046841. 1
68634046842. 2
68634046843. 3
68634046844. 4

Question Number : 12 Question Id : 68634011864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of volumes of two cones is 2:3 and the ratio of radii of their bases is 1:2. The ratio of their heights is:

1. 8:3

Options :

68634046845. 1
68634046846. 2
68634046847. 3
68634046848. 4

Question Number : 12 Question Id : 68634011864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The ratio of volumes of two cones 1s 2:3 and the ratio of radii of their bases is 1:2. The ratio of their heights is:

1.8:3

Options :
68634046845. 1



68634046846. 2
68634046847. 3
68634046848. 4

Question Number : 13 Question Id : 68634011865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the compound nterest when Rs 22.500 1s invested for 18 months at 8% p.a. if the mterest 1s calculated
every 6 months (correct to nearest Rs).

1. 2750
2.2792
3. 2809
4, 2852

Options :

68634046849. 1
68634046850. 2
68634046851. 3
68634046852. 4

Question Number : 13 Question Id : 68634011865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the compound interest when Rs 22.500 1s invested for 18 months at 8% p.a. if the interest is calculated
every 6 months (correct to nearest Rs).

1. 2750
2.2792
3. 2809
4. 2852

Options :

68634046849. 1
68634046850. 2
68634046851. 3
68634046852. 4

Question Number : 14 Question Id : 68634011866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 men and 15 women can do a work 1n 6 days. One man can do the work in 100 days. In how many days can
a woman do the work?

1. 90 days

| ]

. 125 days
3. 150 days
4. 225 days

Options :

68634046853. 1
68634046854. 2
68634046855. 3
68634046856. 4

Question Number : 14 Question Id : 68634011866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 men and 15 women can do a work in 6 days. One man can do the work in 100 days. In how many days can
a woman do the work?

1. 90 days

| ]

. 125 days
3. 150 days
4. 225 days
Options :
68634046853. 1
68634046854. 2

68634046855. 3
68634046856. 4

Question Number : 15 Question Id : 68634011867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If4/5 of A= 60% of B=10.75 of C. then A:B:C 1s

1. 4:5:6

| )

1425
3.15:20:16
4.16:12:15

Options :



68634046857. 1
68634046858. 2
68634046859. 3
68634046860. 4

Question Number : 15 Question Id : 68634011867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1f4/5 of A= 60% of B =0.75 of C, then A:B:C 1s

1. 4:5:6

| )

. 1:4:5
3. 15:20:16
4.16:12:15
Options :
68634046857. 1
68634046858. 2

68634046859. 3
68634046860. 4

Question Number : 16 Question Id : 68634011868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement :

NoAizB

Some Bis C

All CisD

Conclusions:

I. Some A are D

IT.All B are D

1. Only I follow

|

. Only II follow
3. Both I and II follow
4. Neither I nor II follow
Options :
68634046861. 1

68634046862. 2
68634046863. 3



68634046864. 4

Question Number : 16 Question Id : 68634011868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement :

NoAizB

Some Bis C

All CisD

Conclusions:

I. Some A are D

ILAIBare D

1. Only I follow

|

. Only II follow
3. Both I and IT follow
4, Neither I nor II follow
Options :
68634046861. 1
68634046862. 2

68634046863. 3
68634046864. 4

Question Number : 17 Question Id : 68634011869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement : "According to me. you should get your father examined by a specialist doctor”- Rahul tells Rishi.
Assumptions : I. Specialist doctors are able to diagnose better than ordmary doctors.
II. Rishi will certamnly not agree with Rahul's advice.
1. If only assumption I is implieit
2. If only assumption II is implicit
3. If esther assumption I or IT is implieit
4. If both assumption I or I are implicit
Options :

68634046865. 1
68634046866. 2



68634046867. 3
68634046868. 4

Question Number : 17 Question Id : 68634011869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Statement : "According to me. you should get your father examined by a specialist doctor”- Rahul tells Rishi.
Assumptions : I. Specialist doctors are able to diagnose better than ordinary doctors.

II. Rishi will certainly not agree with Rahul's advice.

1. If only assumption I is implicit

J

. If only assumption II is implicit
3. If either assumption I or IT 1s implicit
4. If both assumption I or IT are implicit

Options :

68634046865. 1
68634046866. 2
68634046867. 3
68634046868. 4

Question Number : 18 Question Id : 68634011870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Raghu and Babu are twins, Babu's sister is Reema. Reema's husband is Rajan. Raghu's mother is Lakshmi.
Lakshmi's husband 1s Rajesh. How 1s Rajesh related to Rajan?

1. Uncle

2. Son-in-law
3. Father-in-law
4. Cousin

Options :

68634046869. 1
68634046870. 2
68634046871. 3
68634046872. 4

Question Number : 18 Question Id : 68634011870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Raghu and Babu are twins, Babu's sister 1s Reema. Reema's husband 1s Rajan. Raghu's mother 1s Lakshmai.
Lakshmi's husband 1s Rajesh. How 1s Rajesh related to Rajan?

1. Uncle

2. Son-mn-law
3. Father-in-law
4. Cousin

Options :

68634046869. 1
68634046870. 2
68634046871. 3
68634046872. 4

Question Number : 19 Question Id : 68634011871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the word for (7) which will set same relation on both side of :: ?
North : South-East :: East: ?
1. South
2. South-West
3. North-West
4. North
Options :
68634046873. 1
68634046874. 2

68634046875. 3
68634046876. 4

Question Number : 19 Question Id : 68634011871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the word for (7) which will set same relation on both side of :: ?
North : South-East :: East : ?

1. South

2

. South-West
3. North-West

4. North

Options :

68634046873. 1
68634046874. 2
68634046875. 3
68634046876. 4

Question Number : 20 Question Id : 68634011872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reeta starts from her home every monday. drops her child to the school which is 10 km south. then goes to
check on her parents, who live 15 km west of school. She then goes to the Wholesale market which is 40 km
north from her parents place to by fabric. She then goes to the training centre to teach sticking. From the
training centre, which is 25 km to the east of the market. she finally reaches her boutique after travelling 30
km south. What is the location of the boutique?

1. 10 km east of Home
2. 10 km north of School
3. 10 km east of School

4. 10 km west of Home

Options :

68634046877. 1
68634046878. 2
68634046879. 3
68634046880. 4

Question Number : 20 Question Id : 68634011872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Reeta starts from her home every monday. drops her cluld to the school which 1s 10 km south. then goes to
check on her parents, who live 15 km west of school. She then goes to the Wholesale market which is 40 km
north from her parents place to by fabric. She then goes to the training centre to teach sticking. From the
training centre, which is 25 km to the east of the market. she finally reaches her boutique after travelling 30
lan south. What 1s the location of the boutique?

1. 10 km east of Home

| S

. 10 km north of School
3. 10 km east of School

4. 10 km west of Home

Options :

68634046877. 1
68634046878. 2
68634046879. 3
68634046880. 4

Question Number : 21 Question Id : 68634011873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which public sector bank has partnered with 'Garuda Aerospace' under 'Kisan Pushpak Yojna' ?

1. Punjab National Bank

| )

. Canara Bank
3. Union Bank of India

4, State Bank of India

Options :

68634046881. 1
68634046882. 2
68634046883. 3
68634046884. 4

Question Number : 21 Question Id : 68634011873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which public sector bank has partnered with 'Garuda Aerospace' under 'Kisan Pushpak Yojna' 7

1. Punjab National Bank

| )

. Canara Bank
3. Union Bank of India

4. State Bank of India

Options :

68634046881. 1
68634046882. 2
68634046883. 3
68634046884. 4

Question Number : 22 Question Id : 68634011874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Name of Plavers)] LIST II (Sports)
[MNikhat Zareen 1. [Hockev
Sreeja Akula II. |Boxing

Deep Grace Ekka ITI. |Chess

.. Praggnanandha IV. |Table Tennis

R

Choose the correct answer from the options given below:

1. A-IV, B-1I. C-I. D-III

| S

AT B-IV, C-I1, D-1
3. A-IL B-IV, C-1, D-III
4. A-IIL. B-IV. C-I. D-II

Options :

68634046885. 1
68634046886. 2
68634046887. 3
68634046888. 4

Question Number : 22 Question Id : 68634011874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Name of Players)] LIST II (Sports)
[MNikhat Zareen 1. [Hockev
Sreeja Akula II. |Boxing

Deep Grace Ekka ITI. |Chess

.. Praggnanandha IV. |Table Tennis

R

Choose the correct answer from the options given below:

1. A-IV, B-11. C-I. D-III

-2

AT B-IV, C-I1, D-1
3. A-II. B-IV. C-1. D-III
4. A-IT1. B-IV. C-I. D-II

Options :

68634046885. 1
68634046886. 2
68634046887. 3
68634046888. 4

Question Number : 23 Question Id : 68634011875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The SAMPADA scheme of Government of India is related to

1. Rural Banking
2. Food processing
3. Insurance for BPL families
4. Irrigation Sector

Options :

68634046889. 1

68634046890. 2

68634046891. 3
68634046892. 4

Question Number : 23 Question Id : 68634011875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The SAMPADA scheme of Government of India is related to

1. Rural Banking

| )

. Food processing
3. Insurance for BPL families
4. Irrigation Sector

Options :

68634046889. 1
68634046890. 2
68634046891. 3
68634046892. 4

Question Number : 24 Question Id : 68634011876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The sound waves which lie in the frequency range 20 Hz to 20,000 Hz are called non
audible waves.

Statement IT: The sound wave having frequencies greater than 20,000 Hz are called ultrasonic waves.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement IT is correct

Options :

68634046893. 1
68634046894. 2
68634046895. 3
68634046896. 4

Question Number : 24 Question Id : 68634011876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The sound waves which lie in the frequency range 20 Hz to 20,000 Hz are called non
audible waves.

Statement IT: The sound wave having frequencies greater than 20,000 Hz are called ultrasonic waves.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I 1s incorrect but Statement IT is correct

Options :

68634046893. 1
68634046894. 2
68634046895. 3
68634046896. 4

Question Number : 25 Question Id : 68634011877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Subsidiary Alliance System was started by
1. Lord Dalhousie
2. Lord Wellesley
3. Lord Cornwalis

4, Lord Curzon

Options :

68634046897. 1
68634046898. 2
68634046899. 3
68634046900. 4

Question Number : 25 Question Id : 68634011877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Subsidiary Alliance System was started by

1. Lord Dalhousie

| )

. Lord Wellesley
3. Lord Cornwalis

4. Lord Curzon

Options :

68634046897. 1
68634046898. 2
68634046899. 3
68634046900. 4

Part B: Architecture
Section Id : 686340236
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340394
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 68634011878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hagia Sophia was built at:

1. Istanbul

[ ]

. Rome

3. Dellu
4. Italy

Options :

68634046901. 1
68634046902. 2
68634046903. 3
68634046904. 4



Question Number : 26 Question Id : 68634011878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
giforan ifeaT @eT Ry o
1. S5gA
2.3
3. feeeft
4.geall

Options :

68634046901. 1
68634046902. 2
68634046903. 3
68634046904. 4

Question Number : 27 Question Id : 68634011879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a part of public buildings.

1. Housing complex buildings

o

2. Educational buildings
3. Recreational buildings
4. Institutional buildings

Options :

68634046905. 1
68634046906. 2
68634046907. 3
68634046908. 4

Question Number : 27 Question Id : 68634011879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



28§ B9 Yo BRI g TRl &
1. HTarg 9Ty Yad
& vaq
 FARGA & Had
4, Gi®THE Haq
Options :
68634046905. 1
68634046906. 2

68634046907. 3
68634046908. 4

| S

L ¥ ]

Question Number : 28 Question Id : 68634011880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Glare is caused by.

1. Sunlight or Daylight

| ]

. Artificial light
3. Colours
4. Contrast

Options :

68634046909. 1
68634046910. 2
68634046911. 3
68634046912. 4

Question Number : 28 Question Id : 68634011880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THG Y B IR &

g DI I=E AT & BT AR
R APERIRIE

3.3

4. 1 3y

Options :
68634046909. 1

—

| o]



68634046910. 2
68634046911. 3
68634046912. 4

Question Number : 29 Question Id : 68634011881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lalbagh Garden, Banglore is a.
1. Hanging garden
2. Memorial garden
3. Botanical garden
4. rock garden
Options :
68634046913. 1
68634046914. 2

68634046915. 3
68634046916. 4

Question Number : 29 Question Id : 68634011881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (&Y Qe S o

1. CTdT §3HT 3l

| ]

RS 3IH
g 3T

4. 9 I

[#5]

Options :

68634046913. 1
68634046914. 2
68634046915. 3
68634046916. 4

Question Number : 30 Question Id : 68634011882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In total flux method or Lumen method . which 1s not considered for calculation of effective or actual flux
received on the work plane.

1. Maintenance factor

2. Glass factor

3. Daylight factor

4. Bars or Framing factor

Options :

68634046917. 1
68634046918. 2
68634046919. 3
68634046920. 4

Question Number : 30 Question Id : 68634011882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W@WW@?W@ﬁWﬁWWWMﬁWW@W%W%
EIEIISIGINE

1. g dR®
2. AT RSP
3.8-dE¢ PR
4. g1 A1 Bi® HRE
Options :
68634046917. 1
68634046918. 2

68634046919. 3
68634046920. 4

Question Number : 31 Question Id : 68634011883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following instrument can be used for shadow analysis based on Sun-path science.

1. Total station

[

. Heliodon
3. Anemometer

4. Pyranometer



Options :

68634046921. 1
68634046922. 2
68634046923. 3
68634046924. 4

Question Number : 31 Question Id : 68634011883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T8 3 o d SUSRvl o1 Suai 92 U 43 & S [awe ol & forg faan S &:
1. T D&f0r =
fefears
TR
4, UTZIFIHICY
Options :
68634046921. 1
68634046922. 2

68634046923 3
68634046924. 4

| S

L)

Question Number : 32 Question Id : 68634011884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the slope of Ramp designed for wheel chair user.

1. 112

| ]

. 1:10
3. 1:05
4, 1:20

Options :

68634046925. 1
68634046926. 2
68634046927. 3
68634046928. 4

Question Number : 32 Question Id : 68634011884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UfeteR Gl &1 SUTiT &3 ard B gfaer & e v &t gar a1 gl &:

1.1:12

J

. 1:10
3. 1:15
4.1:20

Options :

68634046925. 1
68634046926. 2
68634046927. 3
68634046928. 4

Question Number : 33 Question Id : 68634011885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which are the example of contemporary buildings of 215 century.

A. Olympic National Stadium, Beijing

B. Hagia Soplua, Istanbul

C. California Academy of Science, San Francisco
D. Singapore National Library

E. Casa Mila, Barcelona Spain

Choose the correct answer from the options given below:

1. B. C and D only

| ]

.C.D and E only
3.A. Cand D only
4. A, Cand E only

Options :

68634046929. 1
68634046930. 2
68634046931. 3
68634046932. 4

Question Number : 33 Question Id : 68634011885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 9 D H-U1 3HRA 21 9 9! B THSIAH SHRA PT IaI60 6

A. iU A wfsad, difsm

B. SIful Qifthar, SEdiga

C. Bfwif-far ue st e 9. 37 Hifkw!
D. FTgR A agsid

E. 11 e, arfie=n w1

1= f3u T fasel & @ 9ed Sugad IR &I 99 DIy

1.%de B. C 3R D
2.%ad C.D3IRE
3.%add A.C 3RD
4.%ad A.C 3RE

Options :

68634046929. 1
68634046930. 2
68634046931. 3
68634046932. 4

Question Number : 34 Question Id : 68634011886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is used as structural system in buildings.

A. Cornice

B. Bundled tube

C. Stylobate

D. Trusses tube

E. Outrigger Frame

Choaose the corract answer from the options given below:
1. A.Cand D only
2.B.Dand E only
3.B. Cand D only

4. C.D and E only

Options :

68634046933. 1
68634046934. 2
68634046935. 3
68634046936. 4



Question Number : 34 Question Id : 68634011886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=Y [GOdT U SHRG &1 TS WoTet § g1 &

[l

1= f4u T fas el & 9§ 9l Sugad IR &I 99 DI

1.%ad A.C3RD
2.%dd B.D 3RE
3.%dd B.C 3RD
4.%add C.DRE

Options :

68634046933. 1
68634046934. 2
68634046935. 3
68634046936. 4

Question Number : 35 Question Id : 68634011887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two staternents:

Statement I: One of the important facts that requires careful examination during deciding the requirements of new town is function
of the town.

Statement Il: Welfare of people is not a major fact that needs to be considered during deciding the requirements of new town.
In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement | and Statement Il are true

| ]

. Both Statement | and Statement 11 are false
3. statement | is true but Statement Il is false

4. statement | is false but Statement Il is true

Options :
68634046937. 1



68634046938. 2
68634046939. 3
68634046940. 4

Question Number : 35 Question Id : 68634011887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MR puaRud

DY L 70 R B HAWYD A B 79 PR &b AR HIGHH! G URI&T DI Sa=yesdl dr Hgayul
FRP| T Y TP TR BT P G

BYA I1: QT T HedIvl U WIE PR gl ¢ (o 44 6 DI HGRID IS Bl ad - GH [qaR &
DI aLgHa g

IWRIad YA & 3Telld 1, Ard fGu 70 f[dsedi § I Ug! 3a3 &1 94U Bl
1. PYFIAR IS T §
2. YT AR 11 SHT 3T &

3. PUTI IO, ApT PYT I ST &

4. PYTI IS, AT YT 1 9T &

Options :

68634046937. 1
68634046938. 2
68634046939. 3
68634046940. 4

Question Number : 36 Question Id : 68634011888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Banyan tree, Peepal tree. Imli tree and Ashok tree are preferred on road side plantation.
statement Il: They are considered for their potential for pollution control.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

| )

. Both Statement | and Statement |1l are incorrect
3. statement | is correct but Statement Il is incorrect

4, statement | is incorrect but Statement Il is correct

Options :

68634046941. 1
68634046942. 2
68634046943. 3
68634046944. 4

Question Number : 36 Question Id : 68634011888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4§ By AU §:

BY LHSH & [b-R a5, I 3R =D & US| & J&RI0 B WUl ol Jiig|
HYA I1: 35 TGNVl (401 BT Ia] JUTTAd &l & feg A1 of1al 5 |

SURIEd DY & el T, - f4u U [deedi ¥ I G Sugad SR BT 98- SIIT:

1. BYTIAR IS T &

2. BYT1 AR 11 SHT 3T &
3. BYT I 9 8. AfPT PUT 11 39T &

4. FYTI I e AT PUT 1 Ia 8

Options :

68634046941. 1
68634046942. 2
68634046943. 3
68634046944. 4



Question Number : 37 Question Id : 68634011889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: A minimum open space of 60 cm is to be provided in front of any sanitary fixture for movement.

Statement Il: Storage capacity of tank above 5000 liters should preferably be divided into two or more tanks/compartment to avoid
interruption of water supply, due to repair of one tank.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

| ]

. Both Statement | and Statement |l are incorrect
3. statement | is correct but Statement Il is incorrect

4. statement | is incorract but Statement |l is correct

Options :

68634046945. 1
68634046946. 2
68634046947. 3
68634046948. 4

Question Number : 37 Question Id : 68634011889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIE AR HIC A G

HYA I Tl off GfFed Ry & srded WEF) & 1idfdf & 0 &9 9 $9 60 cm 31 Gall
S8 JUde BS o] aey|

P I1: 5000 TR F fUE TF D HSRU &Hal &I & T1 31 T 349 ot § fawfora fean s =g
dlids U ¢ oI BRI & BRI U 1 SHTY[d T §1eT = Y|

IRIEd HUF & AeF 1, J 2 Twmedi & @ g 3R &1 9uA i

1. BYFT ARSI TSI §
2 HYTI AR 11 ST T S
3. HUT I e, Al T PUT I 3T &

4. FYTI AR, AT PYT I TI B

Options :
68634046945. 1
68634046946. 2



68634046947. 3
68634046948. 4

Question Number : 38 Question Id : 68634011890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Components of means of Egress.
A. Atrium
B. Lobby
C. Exit stairway
D. Shaft
E. Exit Discharge

Choaose the corract answer from the options given below:
1. A. B and D only
2.B. C and E only
3. A. Band ¢ only

4. C.D and E only

Options :

68634046949. 1
68634046950. 2
68634046951. 3
68634046952. 4

Question Number : 38 Question Id : 68634011890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634046949. 1
68634046950. 2
68634046951. 3
68634046952. 4

Question Number : 39 Question Id : 68634011891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
Spatial resolution 1. PMMatrix of image elements or pixels
Spectral Resolution II. [Frequency of repetitive coverage

E adiometric resolution] II1. [Number of bands and 1ts wavelength range
Temporal Eesolution | IV. |Sensitivity of Defector

o ofw[>

Choose the correct answer from the options given below:

1. A4 BN C-IV D-lI

| B

AL B GV D

Tad

AV B G DN

e

AN BAIVO G- DA

Options :

68634046953. 1
68634046954. 2
68634046955. 3
68634046956. 4

Question Number : 39 Question Id : 68634011891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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| B
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3. AV Bl C-1 D-N
4, Al BV €1 DN

Options :

68634046953. 1
68634046954. 2
68634046955. 3
68634046956. 4

Question Number : 40 Question Id : 68634011892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Jawahar Kala Kendra was designed by:

1. Le Corbusier

| )

. Charles Correa
3. B.V Doshi
4. Christopher Charles Benninger

Options :

68634046957. 1
68634046958. 2
68634046959. 3
68634046960. 4

Question Number : 40 Question Id : 68634011892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634046957. 1
68634046958. 2
68634046959. 3
68634046960. 4

Question Number : 41 Question Id : 68634011893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Interface between an already setting concrete and fresh batch of concrete is referred as.

1. Expansion joint

| ]

. Cold joint
3. Guniting joint
4. Grouting
Options :
68634046961. 1
68634046962. 2

68634046963. 3
68634046964. 4

Question Number : 41 Question Id : 68634011893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UEd 9 R Hebie 3R 70 T T Hehie & did & Saiyy Bi Hel olldl o:
1. dYIg fTRR &S
2. 381ES
3. TR

4. ol 7= Sl

Options :



68634046961. 1
68634046962. 2
68634046963. 3
68634046964. 4

Question Number : 42 Question Id : 68634011894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a direct disaster.

1. Flood

| )

. Epidemic
3. Storm
4. Migration
Options :
68634046965. 1
68634046966. 2

68634046967. 3
68634046968. 4

Question Number : 42 Question Id : 68634011894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S T T MU TR o
1. dlg
MR
. SHfl-geT

4. Udid

2

LA}

Options :

68634046965. 1
68634046966. 2
68634046967. 3
68634046968. 4

Question Number : 43 Question Id : 68634011895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



With reference to conservation the term "Reconstruction’ refers to-

1. Re-creation of vanished elements

| )

. Reproduction of an exact copy
3. Returning to previous stage
4. Piece by piece re-assembly
Options :
686340469609. 1
68634046970. 2

68634046971. 3
68634046972. 4

Question Number : 43 Question Id : 68634011895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRequr & Tl F AT Usg Tafifa e &:
1. I 8 g1 adl &1 GA-HIo
. UH TS Ui &1 G

[y

| S

S0 90T & dle]

B o-Chs Dl by U FIgI

s
oy

Options :

68634046969. 1
68634046970. 2
68634046971. 3
68634046972. 4

Question Number : 44 Question Id : 68634011896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Indian Building Energy Code 1s based on:

1. The elemental method

[ ]

. The target-U-value method

L]

. The Energy rating method

4. All of the above

Options :
68634046973. 1



68634046974. 2
68634046975. 3
68634046976. 4

Question Number : 44 Question Id : 68634011896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S50 fafegT wrell 18 st &:

< Ul ed gafd

& TRIC-T- A UG

& TSI e Ui

4. JURIaT FHT

Options :

68634046973. 1
68634046974. 2
68634046975. 3
68634046976. 4

—

| S

L5 ]

Question Number : 45 Question Id : 68634011897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s length of shadow generated for a free standing boundary wall of 2 meter by sunlight incident at angle
30°, 60°, and 90°.

1 243,20

y)
235 0
NE]

| ]

v’r:‘)
3'73\@,2

4. 2,—.0

V3
2

Options :

68634046977. 1
68634046978. 2
68634046979. 3
68634046980. 4

Question Number : 45 Question Id : 68634011897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

T & TSI & DIV 30°, 60°, 37X 90° ST g I 2 Hiex B IRGIAR! & U 309 S i dalg &l o

=t

. 243,2,0

| o]

.2@,%.0

=
-‘/3,2@2

2

L]

Options :

68634046977. 1
68634046978. 2
68634046979. 3
68634046980. 4

Question Number : 46 Question Id : 68634011898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a component of sum path diagram.

1. Latitudinal lines

| ]

. Altitude lines
3. Azimuth lines

4, Date lines

Options :

68634046981. 1
68634046982. 2
68634046983. 3
68634046984. 4

Question Number : 46 Question Id : 68634011898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafifad & 3 o9 gefuy 3R &1 06 9ew el &
1. 3f&fir 3@
. & Xy

Options :

68634046981. 1
68634046982. 2
68634046983. 3
68634046984. 4

| S

L5 ]

e

Question Number : 47 Question Id : 68634011899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |freedom Tower, New York 1. |Santiago Calatraval
B. [Bug Khalifa, Dubai II. [Daniel Libeskind
C. Pilwaukee Art Museum, Wiscosin] I11. [Frank o Gehry
D [Vitra Design Museum, Bosel IV |Adrian Smith

Choose the correct answer from the options given below:

1. A IB-IV -1 D-lll

-J

. A-ll Bl C-1 D-IV
3. A4 B-IV Il D-l
4, AV B C-Il D-IN

Options :

68634046985. 1
68634046986. 2
68634046987. 3
68634046988. 4

Question Number : 47 Question Id : 68634011899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et 161 g 11 9 e i

GClE! T I
A [wisH Tz ghis 1. [GfegrT Sragman
B. [§5 @Bl gas I [sFHTd sgarE=|
C. [Fediot 3i1e \forg | faRapli=ge| 1L [hop- l- =
D. [f[ge1 f5erg+ ®feigd, §89d V. [ufgT— gy

Frafciad famedl § 4 9gl 3R &1 944 I :

1. AIB-IV C1 Dl

| B

AL B C- DAV
3. A-Il BAIV C-lI DAl
4, AV Bl C-Il D-I

Options :

68634046985. 1
68634046986. 2
68634046987. 3
68634046988. 4

Question Number : 48 Question Id : 68634011900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the various strata of soil and earth layer found in excavation from top to bottom.

A. Loose Gravel
B. Coarse Sand
C.Rock

D. Fine Sand

E. Silty Sand

Choose the correct answer from the options given below:

1. E-D-B-A-C

-

.E-D-A-C-B
3. D-B-E-A-C
4. D-A-E-B-C

Options :

68634046989. 1
68634046990. 2
68634046991. 3
68634046992. 4



Question Number : 48 Question Id : 68634011900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gars o el firgt 1 faftrs TRl 3R (g] &1 IRd 31 B 4 - B 3R oaieyd B

A DS
B. O

C. 9gH
D, SR X

E. TMegad ¥d
1= 34U T fasbedl & 9§ 98 Iugad IR Bl 99 DI

1. E-D-B-A-C

-2

.E-D-A-C-B
3. D-B-E-A-C
4. D-A-E-B-C
Options :
68634046989. 1
68634046990. 2

68634046991. 3
68634046992. 4

Question Number : 49 Question Id : 68634011901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

statement I: The minimum width of cycle track 1s 3 meter, if overtaking is to be provided.

Statement Il: Cycle tracks may be provided when peak hour cycle traffic 1s 400 or more on routes where traffic
of 100 to 200 vehicles/hour

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

| )

. Both Statement | and Statement | are incorrect
3. statement | is correct but Statement Il is incorrect

4. statement | is incorrect but Statement Il is correct

Options :
68634046993. 1
68634046994. 2



68634046995. 3
68634046996. 4

Question Number : 49 Question Id : 68634011901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RdFERTE
DY WE(hd ¢ B GATH 1915 3 meter 8. Al HAARCH 1T W& B &1 6|

HYT 11 TG IHT H WIEfhd 400 T1 3TY AT 81 R I5Hd 2@ U (60 ol 9hd & ol 100 9
200 G184 Wfd b &1 2fthd BT 2|

IR HYF & HTelld . A fGu 70 faedi § 3 Ig 3u &1 99 Sifo:

1. BYT ARSI GT §

2. BYF1 3R 11 3HT 3T &

3. PYT 19 €, A HYT 11 3T

4. YT e, AP PYT I T ©

Options :

68634046993. 1
68634046994. 2
68634046995. 3
68634046996. 4

Question Number : 50 Question Id : 68634011902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

Author Name of Books
E. Howard I. |The city of Tomorrow and its planning]
[an Mc Harg II. |Garden cities of tomorrow

e Corbusier IT1. |Earthscape
john O Simonds| IV. [Design with nature

ofo]w[=

Choose the correct answer from the options given below:

1. A4 BV C-l DA

J

Al BV CHIl DA
3.8 B CHd DN
4, A-ll B-IV C-I D-IN

Options :

68634046997. 1
68634046998. 2
68634046999. 3
68634047000. 4

Question Number : 50 Question Id : 68634011902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 At 11 ¥ e $ifoy

T 1 (AED) T 11 (Q5T! & 719)
FAEEIE] I |5 e A% eaRl U8 5eg @i
SO Y1 BF | 1L [ RIciS 3t AR
ol wREER |11 |3y

i o argdey] IV [EereA fag A
frafeRad fa®edl @ 9 98l o) &1 90 DI -

1. a0 BV -l D4

=

o|ofw

-2

Al BV CHIl DAl
3. AV Bl C-1 D-IN
4, A-ll B-IV -1 D-IN

Options :

68634046997. 1
68634046998. 2
68634046999. 3
68634047000. 4



Question Number : 51 Question Id : 68634011903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Residential hotels I P0Om
B. [Povate Dwellings II. 1.5m
C. |Apartment Houses I |1.25m
D. [Assembly & mstitutionall IV. | 1.0 m

Choose the correct answer from the options given below:

1. A4l BV Cll D

[

Y - Y LV o T B
3. A0 Bl G-IV D
4, Al BV €Il DA

Options :

68634047001. 1
68634047002. 2
68634047003. 3
68634047004. 4

Question Number : 51 Question Id : 68634011903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 161 A 11 ¥ e Sifey

A I T II
AT gled I podiex
EEIEEL] IL [1.5 Hlex
3OTCHe ATa™ I [1.25 Aiex
fauTaYT od IRFId| IV |10 dfex

fFafafad fameal § O 9t 3ok &1 904 DI -

1. A1 BV CIl D

ofo[w[s

2. A1 BV C-lI D-N
3.5 B-ll C-IV DA
4, ANl BV C-l Dl

Options :

68634047001. 1
68634047002. 2
68634047003. 3



68634047004. 4

Question Number : 52 Question Id : 68634011904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Luminous Intensity] I |[Lux (lx)
B. [Luminous Flux II. |Candela (cd)
C. [lluminance 11 [Candela per meter square (cd/'m?
D. [Luminance IV. [Lumen {lm)

Choose the correct answer from the options given below:

1. Al BV CA D-l

[

A BAV G DN
3. A1 B CV DN

4, Al B-I G-IV D-IN

Options :

68634047005. 1
68634047006. 2
68634047007. 3
68634047008. 4

Question Number : 52 Question Id : 68634011904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 11 G 11 ¥ e Sifog
Tl 1 g 1

Fifddiagar | L [ ud e
Hfd e | 1L [F=ar @eh
DA T | 1L oo Ui a7 Hlex (@ U
FiaEaal | IV, [JgE (Ud )

frafafad famed & 9 98t SR &1 997 DN -

1. Al B4V C-1 D-lI

ol =]

2. A1 BV 1 D-N
3.8 B C-Iv DA
4, Al B-1 C-IV D-N

Options :



68634047005. 1
68634047006. 2
68634047007. 3
68634047008. 4

Question Number : 53 Question Id : 68634011905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Areas that have similar rainfall and temperature will share similar climatic zone.

Statement Il: Areas that have similar rainfall and temperature will have different climatic zones.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement || are correct

| ]

. Both Statement | and Statement | are incorrect
3. statement | is correct but Statement Il is incorrect

4. statement | is incorrect but Statement Il is correct

Options :

68634047009. 1
68634047010. 2
68634047011. 3
68634047012. 4

Question Number : 53 Question Id : 68634011905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MR puaRud

DY GHHE g9 SR AYHME ard &9 G Saarg &7 9 o3|

Y I T a9 SR GTIH aTd &7 H 31e- fer] wiaary &4 g1 |
JRIGT BYF & AP H, I 140 7Y f[dhed H 9 Tl IR &I 994 Bl

1. BYTI ARSI T &
2. HYTI AR 11 ST 3T &

3. BYT 1T €, AT BYT I 3T &

4. PYT I HOI 8. AfPTFYT I I ©

Options :

68634047009. 1
68634047010. 2
68634047011. 3
68634047012. 4

Question Number : 54 Question Id : 68634011906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a barrier for wheel chair users?

1. Steps

[ ]

. Revolving Door
3. Ramp with 1:10 slope
4. Ramp with 1:20 slope

Options :

68634047013. 1
68634047014. 2
68634047015. 3
68634047016. 4

Question Number : 54 Question Id : 68634011906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fgfafad O ¥ $H-91 glaomR Sugimearsd & o e1ud Tl &2
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| S
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Options :

68634047013. 1
68634047014. 2
68634047015. 3
68634047016. 4

Question Number : 55 Question Id : 68634011907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The path through the network which establishes the mmimum project direction is referred as-

1. Rational path

| ]

. Non-Rational path
3. Critical path
4. Non-Critical path
Options :
68634047017. 1
68634047018. 2

68634047019. 3
68634047020. 4

Question Number : 55 Question Id : 68634011907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fead & Arem 9 Eay kg s gy & w o genid e e g
1. GBI Y
TR q& T 9y
3. O HRT 9y
4, TR oI WRT Oy

Options :

| ]



68634047017. 1
68634047018. 2
68634047019. 3
68634047020. 4

Question Number : 56 Question Id : 68634011908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The acronym IPCC is associated with-
1. building certification system
2. measure of energy expanded
3. Climate change

4. Affordable housing

Options :

68634047021. 1
68634047022. 2
68634047023. 3
68634047024. 4

Question Number : 56 Question Id : 68634011908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T Ot Tt T T[ST 531 &
1. fafeS T wauE womet

faeafva swt sram™

| )

L

3. Sfefarg gideH

4. fpwrad! smay

Options :

68634047021. 1
68634047022. 2
68634047023. 3
68634047024. 4

Question Number : 57 Question Id : 68634011909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The focus area of Florence charter 1s .

1. Conservation of places of cultural significance

| )

. Conservation and restoration of monuments and sites
3. Conservation of historic town
4. Conservation of historic gardens

Options :

68634047025. 1
68634047026. 2
68634047027. 3
68634047028. 4

Question Number : 57 Question Id : 68634011909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR 916) @1 Bled &7 &
1. Gip P HAged P W DI LU
2. HIRD] SR Rdl BT W& 3R SivlaR(gaiawT & i)
3. UfCgTRI T T R
4. UfdgTRie ST &1 TREU
Options :
68634047025. 1
68634047026. 2

68634047027. 3
68634047028. 4

Question Number : 58 Question Id : 68634011910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following variable or parameters is not used in Psychometric chart.

1. Effective Temperature

| )

. Enthalpy
3. Specific volume of Dry Air
4. Humidity-Absolute

Options :
68634047029. 1



68634047030. 2
68634047031. 3
68634047032. 4

Question Number : 58 Question Id : 68634011910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEERls I § ey § 3 o 3 uRad-<ia o Ridiex &1 3ugn 78 & o1 &
1. THTG! dTIHT
T R

| S

L ¥ ]

Y5 gal Bl fafRy O
4, 701 FRug

Options :

68634047029. 1
68634047030. 2
68634047031. 3
68634047032. 4

Question Number : 59 Question Id : 68634011911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify correct formula for calculating illuminance(E) surface at a distance (d) normal to the direction of light
source with intensity (I)

1.E=1/d
2. E=I/d?
3.E=1/4d
4. E=1/4d*

Options :

68634047033. 1
68634047034. 2
68634047035. 3
68634047036. 4

Question Number : 59 Question Id : 68634011911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR O (3) I Hag IR g (S, Sl 31g HoT=T ld (3Ts) P 1Y F1Eg =0 & Sl 8. &1 101 &
feTu gl 7 &1 ugaH &<

1.E=1d
2. E=1/d?
3.E=1/4d
4. E=1/d*
Options :
68634047033. 1
68634047034, 2

68634047035. 3
68634047036. 4

Question Number : 60 Question Id : 68634011912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(IS stands for.

1. Geo spatial Information System

| )

. Geo spatial Integration system
3. Geographic Information System
4. Geographic Information Sources

Options :

68634047037. 1

68634047038. 2

68634047039. 3
68634047040. 4

Question Number : 60 Question Id : 68634011912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shtemsey @1 o &:
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Options :

68634047037. 1
68634047038. 2
68634047039. 3
68634047040. 4

Question Number : 61 Question Id : 68634011913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Structure Buildings
A | Double walled dome] I [MIT Auditorium, Boston
B. [Folded plates II. |S.Mana del Fiora Cathedral, Florence
C. [Flying buttress ITI. |Raverside Museum, Glasgow
D. |Shell IV, |Notre Dama Cathedral. Paris

Choose the correct answer from the options given below:

1. A4l BV Cll Dl

| B

AN B GV DA

Tad

Al B-lI C-IV DAl
4, A-ll B-l C-IV D-IN

Options :

68634047041. 1
68634047042. 2
68634047043. 3
68634047044. 4

Question Number : 61 Question Id : 68634011913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 1 b1 Y 11 U e i

T 1 @I o1 11 (3ARA)
A [aled Slart g e 1 [egemsdl sifaeiRay, e
B. [Pites Wcd 11 [T8. A1E 3d AN $ysd, Fakg
C. [oTT5T §23d 111 |RazHTg s JIfaH, Tl
D. RId V. [(iceH oUga. uitd

Frafdfad faeedl § 9 9gl 3R &1 944 Sl :

1. A4 BV CHIl D

| B

Al Bl C-IV DAl
3. A B-ll C-IV DAl
4, Al Bl C-Iv D-N

Options :

68634047041. 1
68634047042. 2
68634047043. 3
68634047044. 4

Question Number : 62 Question Id : 68634011914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s not the direct cost combination from the following in a building construction project.

A. Site clearance and excavations cost
B. Material Cost

C. equipment Cost

D. Establishment Cost

E. Supervision Cost

Choaose the correct answer from the options given below:

l.Aand E
2.Band D
3.Dand E
4.Cand E

Options :

68634047045. 1

68634047046. 2

68634047047. 3
68634047048. 4



Question Number : 62 Question Id : 68634011914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yo fafor afdier 8 FafiRad § 9 o 91 Yl ArTd SaieH T8l 6:

A. Trse e 3R 3w ana
B. Tl &1 @FTd

C. IUH AT

D. RG] ARTd

E. Hd&m @nTd

1= 34U T fasbedl & 9§ 98 Iugad IR Bl 99 DI

1.A3RE
2.B3RD
3.D3RE
4.C 3ARE

Options :

68634047045. 1

68634047046. 2

68634047047. 3
68634047048. 4

Question Number : 63 Question Id : 68634011915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
One Habitable room | L |2.8 m*, minimum width 1.2 m|

g

[Kitchen only IL |9.5 m*. minimum width 24 m

Both - w.c. combined | IIL |1.1 m2

gin0|w

Water closet (wc) onlv] IV. 4.5 m*, minimum width 1.8 m|

Choose the correct answer from the options given below:

1. Al B-W CH D-I1

[ )

Bl Bl C-IV D-N
3. Al Bl -l D-Iv
4, AV B-Il C-lll DA

Options :
68634047049. 1



68634047050. 2
68634047051. 3
68634047052. 4

Question Number : 63 Question Id : 68634011915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 1 Y1 11 ¥ A Sifsu
T LIST 11
A [0F B A I L psm? AaHdISs 1241
B. [ddd IHRER IL [9.5 m2 A9 IISTS 24 |1
C. [GIFl- aTex Faiie THary| 1L |1 1 m?
D. [drdd dlex Farde V. 4.5 m?, a9 dISTs 1.8 i

fFrafaRad faweal & ¥ U8t ST &1 901 Difa -

1. Adl BV C D-liI

[ ]

Al B C-IV D-IN
3. A Bl C-NI D-lv

4, A-lv B-Il CHI1 DA

Options :

68634047049. 1
68634047050. 2
68634047051. 3
68634047052. 4

Question Number : 64 Question Id : 68634011916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

Place/ Events Heritage significance/characteristics
Kumbh Mela I. |Cultural landscape
F.ock Shelter of Bhumbatka| II. [Living heritage
[Kailash Temple, Ellora IT1. [Intangible cultural Heritage
Jaisalmer IV. [Rock cut architecture

ofo]w[>

Choose the correct answer from the options given below:

1. A4v B4 C-l D-N1

J

BV B-Hl C-1 D-II
3. A B CAv DN
4, A-ll B-l C-IV D-IN

Options :

68634047053. 1
68634047054. 2
68634047055. 3
68634047056. 4

Question Number : 64 Question Id : 68634011916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 At 11 ¥ e $ifoy

T 1 T 11

Y Hell ?ﬂ@‘ﬁm%mﬁ
e &l g 11 [Siifad flavrad
e, TR | 111 [emd geias faad

SITHT IV. [21d ®idd agdal
fafaRad fasedl 4 T U8l 3R &1 904 P ;

1. AW Bl C-l D-Nl

ofo[w[s

2. AV B-IIL -l -1
3. A0 BA C-IV DN

4. A-ll B-I C-IV D-lN

Options :

68634047053. 1
68634047054. 2
68634047055. 3
68634047056. 4



Question Number : 65 Question Id : 68634011917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

[Photometric quantities| Units

[Muminance I. |Candela
[ uminous intensity] 1. |Candela’sqm
[ uminance IT1. [Lumens/sqm

ofo]w[>

[ uminous efficacy | IV, [Lumens/watt

Choose the correct answer from the options given below:
1. A-1 BN C-ll DIV
2. Al B C-li DAV
3. Al Bl G-Il DIV
4. A1l B-I C-IV DAl

Options :

68634047057. 1
68634047058. 2
68634047059. 3
68634047060. 4

Question Number : 65 Question Id : 68634011917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 101 At 11 ¥ e Sifoy

T T I
BICHIeE AT EEdE]

_ [peid 9@ I [
BIGKIEGI] 1L [prsall Ufd &l dieX
ST 111 [e0H= Tid & Hie3
THTE wEifaEadl] IV, [gH- gl dle

Fgfaiad [deedl § 9 Iet 3u &1 994 DIl

1. A1 B-IL C-Il D-IV

PIREIE

2. 801 B CHll D-IV
3. A0 Bl C-NI DAV

4. A-ll B-I C-IV D-lN

Options :



68634047057. 1
68634047058. 2
68634047059. 3
68634047060. 4

Question Number : 66 Question Id : 68634011918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TOD stands for in planning of cities:

1. Transit Oriented Design

| )

. Transit Oriented Development
3. Transferable Oriented Dwelling
4. Transportation Oriented Development

Options :

68634047061. 1
68634047062. 2
68634047063. 3
68634047064. 4

Question Number : 66 Question Id : 68634011918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
13T <Rt o Ao | & fou vides &
 gifvre sifvu=~s fgwrg

e 't 2 ]

2. clivid SflIXU<s oddUH

—

LN}

 CBREd fiRu<s 3arg

.

Options :

68634047061. 1
68634047062. 2
68634047063. 3
68634047064. 4

Question Number : 67 Question Id : 68634011919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a concept of Sir Patrick Geddes-

1. Conurbation

| )

. Constellation theory
3. Garden city
4. Geddesian trial
Options :
68634047065. 1
68634047066. 2

68634047067. 3
68634047068. 4

Question Number : 67 Question Id : 68634011919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafad 0 9 o H 91 R Uie® o9 1 S[@URUT 6l 6:
1. TR faER
AR
RISEARG
4. TSTyT- e

| ]

L5 ]

Options :

68634047065. 1
68634047066. 2
68634047067. 3
68634047068. 4

Question Number : 68 Question Id : 68634011920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the given conceptual plan of a city P.Q.R and S refer to urban patterns. Choose the correct association.

City
Boundary

1. P-Satellite town
Q-Urban fringe
R-TOD

S- Central Business District

[ o]

. P- Central Business District
Q- Satellite town
R-TOD
S- Urban fringe

3. P- Urban fringe

Q- TOD

R- Satellite town

S- Central Business District

Options :

68634047069. 1
68634047070. 2
68634047071. 3
68634047072. 4

Question Number : 68 Question Id : 68634011920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fopit Ter 1 41 Tt SaURES aie1 H PQR 3R S We UeA ol Halifd &xd 3 | I8! [odhed &l I

City
Boundary

;
:
{

Q- <l 3 Bt
R-ICTEE 2139

Options :

68634047069. 1
68634047070. 2
68634047071. 3
68634047072. 4

Question Number : 69 Question Id : 68634011921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a zone.

1. Residential

| )

. Comumercial
3. Industrial

4. Electrical

Options :

68634047073. 1
68634047074. 2
68634047075. 3
68634047076. 4

Question Number : 69 Question Id : 68634011921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TH AP WA T &
1. Ty
Ko GRsl It
St
4. faggda
Options :
68634047073. 1
68634047074. 2

68634047075. 3
68634047076. 4

| ]

L5 ]

Question Number : 70 Question Id : 68634011922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Parliamentary in building hardware 1s a type of -

1. Bar

2

.Lock
3. Hinge
4. Bolt

Options :
68634047077. 1



68634047078. 2
68634047079. 3
68634047080. 4

Question Number : 70 Question Id : 68634011922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfefara=<, RS g FITH UBRE . FI

1.9

L

i

| S

%E

-

4. dlec

Options :

68634047077. 1
68634047078. 2
68634047079. 3
68634047080. 4

Question Number : 71 Question Id : 68634011923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are NOT climate induced Disaster/Hazards.
1. Heat Land Effect
2. Urban Flooding
3. Cloud burst

4. Earthquake

Options :

68634047081. 1
68634047082. 2
68634047083. 3
68634047084. 4

Question Number : 71 Question Id : 68634011923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafaRad & ¥ ®H-3 Sadrg Uk Si9el&as] el o
1. 7 gidig wa
IR
915 Wl
4, Y&4
Options :
68634047081. 1
68634047082. 2

68634047083. 3
68634047084. 4

| S

L5 ]

Question Number : 72 Question Id : 68634011924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Name the view which can be generated by Remote serving sensor to see large areas at the same time.

1. Perspective view

| B

. Orthographic view
3. Synoptic view
4. Worms view
Options :
68634047085. 1
68634047086. 2

68634047087. 3
68634047088. 4

Question Number : 72 Question Id : 68634011924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 T BT A1 9a16 o U ol 999 H 92 87 &l 5@ & o e IR IR gR1 394 o o 9l &:
1. RU&T TRg
2. 3o T2y

3. gigra Ty

4. DS I 3{1El T ST g =

Options :



68634047085. 1
68634047086. 2
68634047087. 3
68634047088. 4

Question Number : 73 Question Id : 68634011925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A |Santiago calatraval I. [Heydar Aliva cultural centre, Baku Azerbaijan
B. |Renzo Piano II. finfinity tower, Dubai
C. [Ken Yeang IT1. Jtj1 basu cultural centre, New Caledonia
D. |Zaha Hadid IV |Solaris Building, Fusionopolis Research and Development complex, Singapore

Choose the correct answer from the options given below:

1. A4V B-IL C-l DA

J

AN B GV DA

T

Al B GV DA
4, A-ll B-l C-IV D-IN

Options :

68634047089. 1
68634047090. 2
68634047091. 3
68634047092. 4

Question Number : 73 Question Id : 68634011925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et 161 g 11 9 e i

E 1 Tl I
g @rarce] 1 [geR 3 deae e, d1d, HoadH

ot o] 11 [gAMhc] 2R gag
- g 111 [efoary daard Uex, 3 bais =
EEEHH 1V, [§aii fafes, T Rud tg saeuHe sirce, R

FafeiRad faeedl § O 9el 3t &1 999 Do

1. Aa0v B-IL C-Il D

ofa]w]s

| B

AN Bl G-IV DA

L5 ]

. Al B-ll C-IV DAl
4, Al Bl C-Iv D-N

Options :

68634047089. 1

68634047090. 2

68634047091. 3
68634047092. 4

Question Number : 74 Question Id : 68634011926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
statement I: Carpet area does not include the thickness of the inner walls.

Statement Il: Carpet area includes the thickness of the inner wall.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement |l are correct

| ]

. Both Statement | and Statement |1 are incorrect
3. Sstatement | is correct but Statement Il is incorrect

4. statement | is incorrect but Statement Il is correct

Options :

68634047093. 1
68634047094. 2
68634047095. 3
68634047096. 4



Question Number : 74 Question Id : 68634011926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE AR AIC A AU U

HYAL: BRUC TRar 1 i dari @ miers i 781 gl 6

HIRO11: $RUC TR § viqd] Sier &1 Giers widd gl 81

SURI DY & 3l o, - f4u 71U [deedi ¥ I G Sugad SR &1 99 HIfoIT:
1. ¥ 13 ngel W &

2. w1 3T e 3 §
3. B 19T B, oifthd O 1 39T ©
4. U 1 T T, olleh] A 1T ©

Options :

68634047093. 1
68634047094. 2
68634047095. 3
68634047096. 4

Question Number : 75 Question Id : 68634011927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Olgyay's Bioclimate chart combines the effect of
A. Vegetation
B. Dry Bulb temperature
C. Relative Hunudity

D. Climate Zone
E. Air Movement

Choose the correct answer from the options given below:
1.B.Cand E
2.A.Bandc
3.B.Cand D
4. A . CandE
Options :
68634047097. 1

68634047098. 2
68634047099. 3



68634047100. 4

Question Number : 75 Question Id : 68634011927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HI & SEaRIgHicD =1e, feues YHa oI oilsdl 82

A. T

B. Jdi fgoreil & 71l &1 argar
C. TTUfEd Mgt

D. Siefarg &4

E. ag U@

[l

1= f3u T fasbedl & 9§ 998 Iugad IR &I 99 DI

1.B.C 3R E

2. A.B3lTC

3.B.C3RD

4.A,CIARE
Options :
68634047097. 1
68634047098. 2

68634047099. 3
68634047100. 4

Question Number : 76 Question Id : 68634011928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following can not be considered as the Pre Historic Architecture?
1. monolith
2. Westminster Place
3. Cave Dwelling
4. Stone henge
Options :
68634047101. 1
68634047102. 2

68634047103. 3
68634047104. 4

Question Number : 76 Question Id : 68634011928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
FafaRad & ¥ {59 gd-UiieTRie aRgear & 39 4 961 7F1 o T6dl o7
 U@TRH (A1)
deeffier Uay
BT SHTaT™
4, EHBS

—

| S

L5 ]

Options :

68634047101. 1
68634047102. 2
68634047103. 3
68634047104. 4

Question Number : 77 Question Id : 68634011929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following cannot be constructed by using RCC.

1. Foundation

[

. §lab of roof
3. DPC

4. Beam

Options :

68634047105. 1
68634047106. 2
68634047107. 3
68634047108. 4

Question Number : 77 Question Id : 68634011929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad & 3 g i o 9 9 & g1 =t frm s gwar &
1. 4iq
. Bd @l gfear
3. ST U
4. d11

2



Options :

68634047105. 1
68634047106. 2
68634047107. 3
68634047108. 4

Question Number : 78 Question Id : 68634011930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Urban Landuse Management DOESNOT include -
1. Re-development
2. Building Regulation and code
3. Land use Planning

4. Greentield development

Options :

68634047109. 1
68634047110. 2
68634047111. 3
68634047112. 4

Question Number : 78 Question Id : 68634011930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEd ity SuE e A it T
1. gAfdeS

o o [

2. fafeE fafigma iR ols
YT U &t groiH]

4. B &7 [d

[ 5]

Options :

68634047109. 1
68634047110. 2
68634047111. 3
68634047112. 4

Question Number : 79 Question Id : 68634011931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Endemic plant 1s

1. Plant established as a part of the flora of a locale other than its place of origin

-J

. Plant indigenous to a particular locale
3. Plant not nature to specific location and have tendency to cause damage to the environment
4. Plant that is found only in one geographic location on earth

Options :

68634047113. 1

68634047114. 2

68634047115.3
68634047116. 4

Question Number : 79 Question Id : 68634011931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I G §:
1. G 39 T R & 1Al [t 30 R a5 & U I & 39 H I o 7|
2. U 42y =i & g waai dlen
3. UT8 gy ¥ fafry == & 981 © SR Uhiavul &l o d ugdi- & ¥ald 369d o
4. 98 U4 Sl ged] O drad Ueb HRIiTcieh ST U UIT STl §

Options :

68634047113. 1
68634047114. 2
68634047115. 3
68634047116. 4

Question Number : 80 Question Id : 68634011932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As per Munsell system of colour classification. which is not the attribute for colour property from the
tollowing.

1. Hue

2. value or lightness
3. Luminance

4. Chroma

Options :



68634047117. 1
68634047118. 2
68634047119. 3
68634047120. 4

Question Number : 80 Question Id : 68634011932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 arffenvor 1 S vt & AR, S e | 3 & o fafdw et

1.9

| S

4 T g9
 SOtfaHTdan
4. A

Options :

68634047117. 1
68634047118. 2
68634047119. 3
68634047120. 4

L5 ]

Question Number : 81 Question Id : 68634011933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the frequency of light for the given wavelength of 1.19 em and velocity of light as 3x10° m/s

1.0.252 GHZ

| )

2. 32 GHZ
3.252GHZ

4.2.52x10'° GHZ

Options :

68634047121. 1
68634047122.2
68634047123. 3
68634047124. 4

Question Number : 81 Question Id : 68634011933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS 1.19 cm 1 ST 718 TR S0 T 310° s WEBTRI 1 471 € Tl BT ST 1 &

1.0.252 GHZ

| S
| ]

3

[ )
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3

[ )

5

[ ]

GHZ
4.2.52x101° GHZ

Options :

68634047121. 1
68634047122.2
68634047123. 3
68634047124. 4

Question Number : 82 Question Id : 68634011934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Colosseum I. |Athens
Parthenon II. |Petra

Temple of Amon| IT1. [Rome
The Treasury IV [Karnak

REE

Choose the correct answer from the options given below:

1. A4 BV C-l DA

| B

LAV B C-l DI
3. A B4 C-v DN
4, AV B-1 C-ll D-N

Options :

68634047125. 1
68634047126. 2
68634047127. 3
68634047128. 4

Question Number : 82 Question Id : 68634011934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A0 BV -l D

o[a]w[s

2

AV B C-IE DN

g

Bl BA C-IV DN
4, AV B-1 C-ll D-H

Options :

68634047125. 1
68634047126. 2
68634047127. 3
68634047128. 4

Question Number : 83 Question Id : 68634011935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
statement I: Paint is glossy when pigment volume concentration is high

statement Il: Base of paint is usually oxides of metals

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement |l are correct

| ]

. Both Statement | and Statement |1 are incorrect
3. Sstatement | is correct but Statement Il is incorrect

4. statement | is incorrect but Statement Il is correct

Options :

68634047129. 1
68634047130. 2
68634047131. 3
68634047132. 4



Question Number : 83 Question Id : 68634011935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R syafunsg:
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Options :

68634047129. 1
68634047130. 2
68634047131. 3
68634047132. 4

Question Number : 84 Question Id : 68634011936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the structure type of Howrah Bridge. Kolkata?

1. Arch

| )

. Simple supported
3. Suspension
4. Cantilever

Options :

68634047133. 1
68634047134. 2
68634047135. 3
68634047136. 4

Question Number : 84 Question Id : 68634011936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T 0 ¥ feaT g (et 9aics)
YUY
e
Options :
68634047133 1
68634047134. 2

68634047135. 3
68634047136. 4

—

| S

L5 ]

Question Number : 85 Question Id : 68634011937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In GIS, DEM represent information on

1. Vegetation cover

| ]

. Water table
3. Soil type
4. Topography
Options :
68634047137. 1
68634047138.2

68634047139. 3
68634047140. 4

Question Number : 85 Question Id : 68634011937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oit 311w, 7 31 3 uH ¥ TR e &
1. TEfd & TR0 Bl
2. Ol & g &l
3 B 5 TR A

4, dE%Y Bt

Options :



68634047137. 1
68634047138. 2
68634047139. 3
68634047140. 4

Question Number : 86 Question Id : 68634011938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If Anemometer wind velocity: then hygrometer:?

1. Humidity

| )

. Precipitation
3. Pressure
4. Solar radiation

Options :

68634047141. 1
68634047142. 2
68634047143. 3
68634047144. 4

Question Number : 86 Question Id : 68634011938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe THEEeR 591 & 3713 I51 ¢ O SedHie 31 g5dl &
1. ATl

ey

3. adld

4. IR fafeszur

Options :

68634047141. 1
68634047142. 2
68634047143. 3
68634047144. 4

| ]

Question Number : 87 Question Id : 68634011939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If permissible FAR 1s 2:1 and maximum ground coverage 1s 30%, then utilizing full ground coverage and
assuming typical floors of equal area . the number of floors that can be built on the site will be-

1. G+7

| ]

.G+6
3. G+5
4. G+4

Options :

68634047145. 1
68634047146. 2
68634047147. 3
68634047148. 4

Question Number : 87 Question Id : 68634011939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ale 3HY (FAR) 2.1 § 3R SHIUHTH UGS DA 30% & A1 YUl UI3S Havl & SudhT &d U SR UK
TTSTe! T T & O 5 HIge TR ST S 9o Tl Hiorel &1 Iw=a1 gl

1. G+7

4. G+4

Options :

68634047145. 1
68634047146. 2
68634047147. 3
68634047148. 4

Question Number : 88 Question Id : 68634011940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a type of urinal?

1. Squatting type

. Stall type

| )

3. Bowel type

e

. Through type

Options :



68634047149. 1
68634047150. 2
68634047151. 3
68634047152. 4

Question Number : 88 Question Id : 68634011940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafaRad & 3 & H-91 300 1 UPR ol o
1. 96 1 UPR (HhicT egy)

A UHR (Ed 215Y)

| S

3 TR (@13d <BY)

L]

7T UBR (YRI3 e15Y)

e

Options :

68634047149. 1
68634047150. 2
68634047151. 3
68634047152. 4

Question Number : 89 Question Id : 68634011941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Nagar Panchayat 1. |Smaller urban area
B. Municipal corporation| II. [Village, intermediate areas, district
C. |Panchayats ITI. [Transition area from rural to urban
D. PMunicipal council IV. [Larger urban area

Choose the correct answer from the options given below:

1. A4 BN C-IV D-lI

J

AV B G-l DN
3. A BV -l oDH
4, A-ll B-l C-IV D-IN

Options :

68634047153. 1
68634047154. 2
68634047155.3
68634047156. 4



Question Number : 89 Question Id : 68634011941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 11 g 11 9 e sifo

T 1 T 1
TRUGmd | L [@lerwed aa
TR 1. [11a. gead] &, foren
CEIEG 11 [BIc © T1e<1 &7 5 GH vl &7
TRUNEE |1V, [ss1 364 87

fFafafad fdeedl 3 O 98l 3tk &1 994 Sifoig :

1. A4 BN C-Iv D-lI

ofa[w]w

| ]

LAV Bl G-I DN
3. A BV G-Il DA
4, 8-l Bl C-IV D-lN

Options :

68634047153. 1

68634047154. 2

68634047155. 3
68634047156. 4

Question Number : 90 Question Id : 68634011942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

statement I: Risk management is one of the function of construction project management.

Statement IIl: CPM is event oriented, while PERT is activity oriented technigue.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

| ]

. Both Statement | and Statement 1l are incorrect
3. statement | is correct but Statement I is incorrect

4, statement | is incorrect but Statement Il is correct
A-l B-NEC-IE -1V A-1 B-IE C-1 D-IW

Options :

68634047157. 1
68634047158. 2
68634047159. 3



68634047160. 4

Question Number : 90 Question Id : 68634011942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR PR

HYA I ST HaeH o gig e yee & ol § 4 U@ 5

HY I1: C.PM U2 ATHRG P11 5, Sad! PER.T Al enemRd ao-ie |
SWRIGT Sy & 3l H, 714 fdu 71U fdw et # 3 Tel v &1 997 S

1. BYFT I ARSI T &
2. FYFT 1 AR 11 SHT 3T &

3. PYTITA S, AP PUT I 3T &

4. DY AT E. AP HUT I T ©

Options :

68634047157. 1
68634047158. 2
68634047159. 3
68634047160. 4

Question Number : 91 Question Id : 68634011943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I LISTII
Alvar Alto I |Long House, Washington
L ouis I Kahn T [Kimbell Art Museum
Fobert A M

P III. PMunicipal library, Vigpuri

Frank Gehry IV, |Guggenheimn Museum, Bilbaof

of o [w]»

Choose the correct answer from the options given below:
1.am Bl Cl DV
2. AV Bl Cll DA
3. AV B-lI G-I DA
4. A-l Bl C-IVD-N

Options :



68634047161. 1
68634047162. 2
68634047163. 3
68634047164. 4

Question Number : 91 Question Id : 68634011943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 11 G 11 ¥ e Sifog

Gl T I
emm e |1 [amesy ol
. [i2s o, ®eq] 1L [heid 31 BforH
7 | 11 [RRTe arged, [audl
[t Tigdl IV, FEIgH =g, fderarsd)

fFrafaRad faweal 3 ¥ I8t ST &1 901 Dife -

1. A Bl C DAv

il
B

| B

AV B-Il G-Il DA
3. AV B Gl oDH
4, Al B C-IV DN

Options :

68634047161. 1
68634047162. 2
68634047163. 3
68634047164. 4

Question Number : 92 Question Id : 68634011944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
statement I: The sun paths are different due to factor such as location

Statement Il: The sun paths are different due to factor such as duration of the day and night

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement | and Statement || are true

| ]

. Both Statement | and Statement |1 are false
3. statement | is true but Statement Il is false

4. statement | is false but Statement Il is true

Options :

68634047165. 1
68634047166. 2
68634047167. 3
68634047168. 4

Question Number : 92 Question Id : 68634011944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR

HYA I G4 9Y R AR SRS & PR UF G 3|

HY 11 8 SR 3a F1 o1aftl O FRS ! & FRU 94 vy g g &
JRIE HYUF & AP 4, - 140 7Y f[dbed T U T 3R &1 994 By

1. PYT1 AR 11 S 9 &
2. YT AR 11 ST 3 ©

3. YT I T o, Afpd YT I 3T ©

4. FYT1 A8, dfTpy=11 908

Options :

68634047165. 1
68634047166. 2
68634047167. 3
68634047168. 4



Question Number : 93 Question Id : 68634011945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two staternents: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Underpinning is the process of strengthening and stabilizing the foundations of an existing
building

reason R: It is also because the existing foundation may never have been adequate to carry their load leading
to excessive settlement of building one time.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Alstrue but Ris false
4. Ais false but R is true

Options :

68634047169. 1

68634047170. 2

68634047171. 3
68634047172. 4

Question Number : 93 Question Id : 68634011945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i a1 Py fU &
B 1S U Aigl fafes 1 g &l goiqa iR FRR &3 31 4l g

HYA I1: g gHiey o € wifeh Hislar Aid @it ot 39% YR 31 967 $e- & Id gai T8l 81 9ol .
o U R H Yo &1 /it MYeH gl 9ol g

JRIGT BYF & AP H, I 140 7Y f[dhedl H 9 Tl R &I 99 Bl

1. PYT1 AR 11 S 9T &
2 HYTI AR SHT STT S
3. YT T S, AP BYUT I T T

4. P IS, AT YT 1 9 ©

Options :



68634047169. 1
68634047170. 2
68634047171. 3
68634047172. 4

Question Number : 94 Question Id : 68634011946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A mark of depth called Frog is found mn

1. Concrete Block

-2

. Bricks
3. Tiles
4. Wodden planks

Options :

68634047173. 1
68634047174. 2
68634047175. 3
68634047176. 4

Question Number : 94 Question Id : 68634011946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frog ATH® TERTg ] Mg UAT ol e: H
1. Bhic SIP
3. Chgrl
4. qHI & I

| )

Options :

68634047173. 1
68634047174. 2
68634047175. 3
68634047176. 4

Question Number : 95 Question Id : 68634011947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who introduced the Bio-climatic chart for the first time?

1. Houghten FC

| )

. Koenigsberger OH

LS )

. Kopper W
4. Olgyay V

Options :

68634047177. 1
68634047178. 2
68634047179. 3
68634047180. 4

Question Number : 95 Question Id : 68634011947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O Ugd! §R IiasHicE g1 U faaar:

BI3c U E

 PIgE TR 3. 1=

DI S&eg.
4. SfTan gl

Options :

68634047177. 1
68634047178. 2
68634047179. 3
68634047180. 4

—

| S

L)

Question Number : 96 Question Id : 68634011948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ECBC was launched in India on May 27, 2007. It 1s applicable for.

A. Commercial buildings having less than 500 kw load.
B. Commercial building having load of 500 kw or more.

C. All buildings with conditioned floors areas 500 m” to 1000 m?.
D. All buildings with conditioned floors areas 1000m? or more.

Choose the most appropriate answer from the options given below:
1. Aand C only
2. A. Cand D only
3.B and D only

4. B and C only

Options :

68634047181. 1
68634047182. 2
68634047183. 3
68634047184. 4

Question Number : 96 Question Id : 68634011948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

< It &t <t @t yRa 1 27 7S 2007 H @19 favan man uT) 98 fFd i an &

- 500 fardiidre ¥ &9 YR did ga9id® Had

. 500 fepaitare 9 41 399 3{f¥ed YR are sqadias Had
500 FHIER ¥ 1000 THIER A TR A0 Had

1000 FIHIC T G 3118 & ared IR aIdrHicrd Ha-

ta fau e foeredl & § 9ed SUgT SR $1 904 S
1. @ad AR C
2.%ad A.C 3RD
3.%ad B3IRD
4. ®ad B 3R C

Options :

68634047181. 1
68634047182. 2
68634047183. 3
68634047184. 4

O nowe




Question Number : 97 Question Id : 68634011949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A study rooms needs to be lighted with 300 lux through a source of light incident normally on the table from
distance of 3 m. find the intensity of light source required (in Candela)

1. 900
2. 1800
3. 8100
4. 2700

Options :

68634047185. 1
68634047186. 2
68634047187. 3
68634047188. 4

Question Number : 97 Question Id : 68634011949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T D& DI 3 m BT G T B R HRI =0 Y Tfcld YPT=1 & Fdld & HIHH I 300 tux AT
- B HIADHI &, TS TP d DI aiadl J1d P (Poar 1)

1. 900
2. 1800
3. 8100
4. 2700

Options :

68634047185. 1
68634047186. 2
68634047187. 3
68634047188. 4

Question Number : 98 Question Id : 68634011950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
CASBEE L. [India
GRIHA II. [England

Green Mark I11. |Japan
BREEAM IV. [Singapore

ofo]w[>

Choose the correct answer from the options given below:

1. Av B-1 C- D-lN1

J

A B C-Iv DN
3.8 B Cl DN
4, A1l Bl C-IV DA

Options :

68634047189.
68634047190.
68634047191.
68634047192.

A W N =

Question Number : 98 Question Id : 68634011950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gt 1 ¥ e Sifoy

i1 T 11
duogdizs |1 [Rd
o 3R 3ffs U 4] 1L [Eicis
PEEIEE I11. [STaH
dl aR g3 uug |1V R
fafafRad fasel 4 3 981 3R &1 99+ I -

1. Aa4v B4 c-n D-ln

=

o|o|w

2.8 BA C-IV D-N
3. AV Bl C-l0 D-N
4, Al B C-IV D

Options :

68634047189. 1
68634047190. 2
68634047191. 3
68634047192. 4



Question Number : 99 Question Id : 68634011951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The grade separated interchange suitable for 3 legged road interaction 1s known as

1. Trumpet

| )

. Full clover leaf

3. Diamond

4, Partial clover leaf
Options :
68634047193. 1
68634047194. 2

68634047195. 3
68634047196. 4

Question Number : 99 Question Id : 68634011951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3- TS USSR & o1l IUgad U8 IS sexdd Bl (¥ =Y I SH1 ol &:
1. ¢
2. B FeIaR i

3. SOHS
4. e d gaa de

Options :

68634047193. 1
68634047194. 2
68634047195. 3
68634047196. 4

Question Number : 100 Question Id : 68634011952 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match Last I with List II (For standard size of drawing sheet)

LISTI LIST II
A JA4 I. J148=210
B. |A3 I [420=394
C. |A2 ITT |841=189
D. JAD IV. 210=297

Choose the correct answer from the options given below:

1. A1 BV C-i D-N

J

Al BV C-Il DN
3. A0 Bl G-IV D
4, AV B-1 C-II D-IN

Options :

68634047197. 1
68634047198. 2
68634047199. 3
68634047200. 4

Question Number : 100 Question Id : 68634011952 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 At 11 ¥ e Sifog@ET Hic o e HISR @ €)

T 1 gt I

A |U-4 I. |148=210

B. [U5 II. 420=594

C. U2 III. |841=189

D U0 IV, |210=297
Fafaiad faeal 3 O 9ol 39 &1 999 DIl

1. Al B-IV C-II D-lI
2.5 BV C-ll D-N
3. A0 Bl C-IV DA
4, a-v B-1 C-Il D-IN
Options :
68634047197. 1
68634047198. 2

68634047199. 3
68634047200. 4



